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=> Which of the following is the example of isotope ?
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= W(hlcéh f tl%?éfollowmg 1s the example of 1sotone ?
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m) Thelratio of mass of one atom of any element and mass of Carbon-
Z 12)1s0 ope ’s an atom’s art 1S called relative atomic mass.

|2 ¢ Wt |
@O/f ND O D00 000

‘r
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The relatlve mass of that element will be what?—
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= If EMM% the mass of

one atom of element will be what"

Q@\O\JU\\VC O\JTOV\MQ l/r)d\jjj Vhd\jf O][ A, @(—{mf}/\

W
(3= 208 of T oo of oy o &
1%¢ K/O\ZL/éI ; me A
HESY O? O\ atol o &y eleme)t ggxﬁggmf

=3 T & x0 @




(e ;

= Which one is the unit of Relative atomic mass ?
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ost of the elements 1in nature hav@an one W

We calculate the/average relative mass of thos S
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= First we have to multiply the mass number of all isotopes-of that

clement with the percentage oﬁnatural availability)of those 1sotopes.

Then we have to sum all those result. Finally, we have to divide the

result by 100 for getting the average/relative mass of an element.
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= To determine the relative molecular mass we have to know
how much atom there are in that molecule and also we have

W much atom there
to know relative atomic mass of each atom . Lo/ot )i







= What is the RELATIVE MOLECULAR MASS of H,SO, ?
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=) Isotopes are unstable.

= ISOTOPE EMITS RADIO ACTIVE RAY
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= Radio active isotope is very/usefull for us; 'Cobalt-60 isotope
is used to burn unusual cell which has probability to create
cancer.
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Carbon- 14/is used to determine the age of@&hamma S Or

14 rees %etermm ng age of death-animals or plants by this process
C is called ‘Radioactive Date determining’.

# isotope is used to treat Goitre patient.
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reactions. They are also used to detect how a compound works on
animal’s or plant’s body.
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